AL

(hy =2
L) = 24 = Z+il 42k
- ) ol
T e
() #0)= 2

- 0

@(I»Hn) l+g 3@@: 1+2be Lt < -3, = -L{L-8L; -2

Clo= o ) Ly Wb —(2)

LL’/\" <L;_ FZL) - L(-

4z

B et

() The ey vetipn o C&wanﬂvﬁc\we b
Fist(id £f2)
f@)=¢

Flzay=(z4L) = G+8L +12hf
Ve JAA . .
£ly=m HebH -0 :M(?@ Tl 417

h-}@

"
(j:F@)X-G—C,

h
o Y =1zx+C
to fiach Cy tle u% pessen WWL )
>0 §= 2L+C
*0 ==16

The Y= 2x-1€

)
- 238,
v



A7)

. . . Vi
The ey vatin oL de gt (s et J= \[:(79 X+C

Loge Linel .
fm) = Sea(Tr) =

[ N < £ ) / )
\C@‘+l,,> = ¢ M@H ‘n) = {T) C’m({*{}‘ﬂ" Cid (77) [y e,m(L,) = = L’)&)\

e L ) ) _ Lo ~slt) _

Y T heo b

<o
==X+
U C

T i { AT ‘C
loELd Cs the Lung, peases thowl (1T

So

O=~T+c
50 C::.N_

&::_ — X+

Va-8p)

)= (Ts)

(55 =

ALC (j:(:/(.c)ij = —Xx+C

TLJ?/ Wg(/\v {/fub WSS LA itv/’g?u g’w 2){6)

)
(o C= 1%
fl\difzﬁ'\ ) L]
I S

d



€L

V= mitex

—~

Lty = Z2(xeb)o = @(%/ = extexb e oxed

Ol ) =) Lo 23ty Tl ST X e Ct:» Lx+2h-4 =x-|
“’9\}1/;*;0”’“\:,"”’* ~ a0 L, 0

Lot = S

/o> —x—L, s o=\ —1
xth) — 1) A — L Zl X LU.M —————
F(*)v b \_’i LD <€,@( T >> T o | > = h=0 X’@(‘»}%{\ =

Vs O Wy .‘\ LV({ —.L)

82 ) mar, (i) —0x7™= S5 ) o e) x0T 20 g

(v) (movg J5 = ’o@> ; (//C{{’z. “+cosly) (\/l) 2" ~+ el foupg) - (e

\ -4 -z Tle= [
() —} ] =
( ) _,ig T+¢ % (/) é(x):@mg LQ\O T
T I

Ty b (s <)
= (H2) %) +(x4) 605<X>
97

leg (o= (xS0 ) ) 9B=bex) L= oK)
T o= g9 by

9= [+2X .
W69 = coss)

Flo= W09 = F0-Lw + 909: 159 = (1rex)fiag - (o) corf



C’f
(“) k(z><+>< Y < (AX @)(zx—fax”“) + € (&(zwx (*)> QX(ZWX#)VLQY(?—"“){S)
= €f( Tx +’Z‘+><"F~L.L><'g)

i
v d £ letea Jsaby) = < )( X~2X )Sm(><)>4— e ( : ><"”€><"4)§W>

;( >< ZX)SV)K) = (OLX "ZX))SW?)\’ X (X )éyf\nx)

= ( | +72 %" )Qn(x) %—(X Zx)@f(K)

So
a( g
(9 (x—tx )m&)} = @ (X—Zx )gw(x) + e [(+Z>< )Sw(sg) 1 (% -zx )cmr(x)j

= € (><+t >4 -fZX)E(,,,(x) + e x—ex)colx)

(i) o( XSeaby e §w(><)>(e’<_><> — s %{(g_@)

| 6 —X ( x_‘X)z

J”TX gm@“‘( )fo—,x + X (%Q)w) = ZxCLK) +X €5

o= o
$o OL X @‘xgbw(>9+ylm>9) _,><> — X Sw x) ~l> ~
E(z Q,K‘ - (6 X) I N X7
| -z
() roee ra 3
QOdL =, . iﬁ _ (5%%‘1)6;_ z~2£%63> 27 6 —Z 6
ZEl ZdeeE T o = o
—2 -




